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Ccndidates are required to give their onswers in their ownwords asfor as practicable.
'fhe figures in tlte margin indicate 1'ull marks.

Gloup ,{ (3 x 10 : 30).

Attcmpt any 'IHREE <1r-rcstions:

1. (a) If /(r) :3r2-_. r l 2, tircn finct /(2), f (-2), f (u), f ( a) ancl f(0).
(b) Firtl ii,,, '' 

3 1 2'' 2 - I

., r-l 5 J.r'

2. (a) lrind the dcr.ir.irtir.r,of ri - 
'r'2 1- 'r - 2 

.

'r- * (r

(b) trstintatc thc alca bctteen the paraboldy: 12 ancj tirc line y:2.

3. (a) V-erify the N,,Iean \/alirc 'Iheolen for- the function /(r) : 3ti2 * 2a; 1 5
,'e l-1,11.
(b) Define initial vrrhie proirlem. Solve the ecuation ry' 1-211 :Jr:, y(l):2.
(c) Find the volunre of n sphcr-e of radius a.

a. (u) I"ind the loca1 rtraxirirurrr and rninimurn raiues and saddie poirrts of
fQ,,y) : t4 * t1a - 4:r'y 1 7.

(b) l-inci ther culvaturc of i,irc parabola ?J - 12 at the points (0,0), (0, 1) rilcl (2,4)

GloupB (10x5:50).

Attempt any TEN c1-resl,iorrs:

5. \rerify Rollc's thcor.enr ibr. ./(r) : tr2 * 4, a e [-2,2)

6. Find thc Ndaclnurin sclies expansion of sinr at z:0.

7. If f (t): t/l- 2 rrncl .,7(.,') : vG, find (J'og)(t ) arrci (9o/)(r.).

8. Shorv that the a.bsolute valLre function /(z) : lrl is continuous er.er.yl.hcre.
1

l-

9. Firr<i I " -=::- rl ., .Jo t/l - 4.,t)

I0. Slrel.clr tlrt, culvr, lJ -- 2'3 .

11. Find the solution of y" + 4y' )- 4: 0, y(0) :2, !J' (O) : t.
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l,J D,,1rir,,,r'xj\ i)r',,,hir:t, of tu-r-rvcrrtol's.It-ai:?+ Zj +STi a,,.i 7 :Zi -r:/-+7,
hncl?^7rri,.l 7x?. 
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1.1. Irirrd 1,hc sr:coiid paltial cierivatir.es af JQ:.U): 13 * r211:j 21J2. l5i

15. Irind thc lcngth of the arc of the semi-cnbical parabola y2: z3 betneen thc poirrts
(1.1) and (,1.8). 
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